BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREKXEIRAO)
UNBEEFHFS) SHM3FE1H1H
R s | A0 Oisk 7% 21k 3k 4% 57k
5 % g8 % £ = L = g8 x L ©

ENY = 1TH 1,921 4,078 10 17 12 17 20 14 14 20 27 16 12 19
ENY = 2TH 768 1,660 4 4 5 7 4 5 10 5 7 7 10 6
EQNY S 3TH 1,451 2,798 6 3 11 8 10 7 12 7 13 9 9 13
EVINY = 4TH 1,783 3,495 16 7 9 13 15 15 14 12 11 13 15 14
HINE 5TH 2072 | 3,737 13 15 14 13 9 14 17 13 15 11 13 9
H/IMNE 6TH 1,804 | 3,269 11 6 8 13 9 9 12 7 11 9 16 7
mINE 1TH 3,303 | 5,590 24 10 28 20 19 15 13 22 21 22 21 15
mINE 2TH 1,300 | 2,204 4 7 7 8 8 3 7 8 9 10 4 6
m/IhNE 3TH 2834 | 5190 21 14 13 19 18 14 21 11 9 11 20 14
mINE 4TH 1,762 | 3,259 12 9 4 5 10 12 12 9 6 9 7 8
/NG 5TH 2,132 3,784 11 8 12 21 12 13 10 12 15 1 13 5
m/INE 1TH 1,021 2,176 4 7 9 8 6 8 10 6 10 7 8 7
mE/NhNE 2TH 1,708 | 3,478 9 5 6 10 7 5 7 8 11 3 15 16
mE/NhNE 3TH 1,784 | 3,413 13 5 16 7 20 14 17 13 12 10 12 13
mE/NhNE 4TH 1,609 | 3,236 9 7 13 5 6 10 14 6 14 15 11 12
m/NhNE 5TH 2,059 | 3877 10 11 19 18 19 10 16 16 13 11 20 14
mE/NhNE 6TH 2,383 | 3,986 11 14 12 8 16 6 6 10 14 8 10 9
mE/NhNE 7TH 3254 | 5579 12 16 24 12 18 17 17 22 23 17 22 20
m/NhNE 8TH 2,140 | 3,605 22 14 11 10 21 12 18 9 10 9 11 15
d/hE 1TH 1,287 | 2277 10 3 8 6 6 10 5 4 12 8 7 8
d/hE 2TH 2,903 | 5409 18 20 17 19 15 22 33 22 16 14 24 18
d/hE 3TH 1,351 2,547 15 6 10 8 12 13 13 6 13 14 7 4
d/hE 4TH 2,309 | 4547 19 19 28 25 17 18 19 20 17 21 19 19
d/hE 5TH 1,763 | 3,062 6 7 10 10 9 6 3 18 4 7 9 11
d/hE 6TH 2,473 | 4590 16 6 12 14 19 11 24 17 25 17 23 15
d/hE 7TH 1,477 | 3,214 14 15 19 8 18 14 19 15 15 15 9 21
dt/ha 8TH 1,650 | 3,652 4 15 13 16 15 14 14 12 13 16 16 21
&5 52,301 | 97,712 324 270 350 328 358 311 377 330 366 320 363 339
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SHM3FE1A1H
G 67 Ti% 8i% 9% 107% 115 125% 135% 147% 155%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 17 23 19 22 16 22 20 16 25 21 16 14 27 20 21 23 22 14 22 30
ENY= 2TH 5 6 7 5 9 8 2 3 6 6 6 10 9 8 9 8 9 6 7 9
ENY= 3TH 10 16 14 8 10 8 10 14 7 10 26 7 8 14 16 15 8 1 7 11
RING 4TH 20 18 13 17 12 15 14 22 7 11 14 16 11 15 14 11 9 7 16 9
EXINY = 5TH 15 16 11 12 21 5 15 9 11 11 12 11 8 9 6 12 7 10 10 19
ENY= 6TH 7 12 10 16 7 11 11 9 13 11 15 8 8 18 9 13 11 13 8 5
NG 1TH 14 20 16 19 15 20 19 14 19 18 15 13 32 9 21 11 21 16 18 12
NG 2TH 3 7 14 3 10 2 6 6 8 8 3 15 10 3 7 6 4 3 6 11
NG 3TH 13 12 11 21 15 12 17 17 10 17 26 23 13 21 23 21 18 20 15 17
NG 4TH 6 11 6 15 13 14 12 8 8 5 4 15 12 7 12 15 10 9 15 12
NG 5TH 13 15 7 8 9 7 14 12 21 6 13 11 15 18 19 19 15 21 14 21
m/INE 1TH 11 6 7 7 8 11 12 6 11 9 13 9 10 11 9 14 8 13 12 10
mE/NhNE 2TH 10 10 13 10 3 13 17 8 15 11 9 15 14 17 12 15 16 14 20 16
m/NhNE 3TH 12 12 12 10 22 14 17 21 14 11 10 12 22 10 17 6 19 12 13 14
mE/hNE ATH 15 14 11 20 18 17 11 10 15 16 12 22 14 21 13 9 13 13 12 12
mE/NhNE 5TH 17 10 12 14 15 11 11 17 10 7 18 9 14 13 9 15 16 17 16 9
mE/hNE 6TH 11 13 10 13 12 7 7 11 15 9 7 12 9 4 5 11 10 7 7 5
m/hNE 7TH 16 18 17 17 12 19 18 16 15 12 14 15 16 8 10 13 13 19 17 15
m/hNE 8TH 19 11 10 8 13 11 7 8 5 8 10 6 7 8 11 3 10 7 7 8
d/hE 1TH 9 9 8 6 6 8 9 6 10 10 11 5 9 6 10 7 6 7 3 10
d/hE 2TH 27 19 29 16 20 14 19 16 26 20 14 18 29 25 22 17 21 20 16 18
d/hE 3TH 8 6 12 1 8 8 7 6 10 12 7 6 8 9 5 9 12 8 8 9
d/hE ATH 22 13 21 15 21 13 22 14 14 20 18 14 28 23 21 13 23 12 18 23
d/hE 5TH 9 10 9 8 13 11 13 9 6 12 5 11 13 11 4 8 13 13 9 6
d/hE 6TH 11 12 18 17 12 17 21 23 15 11 17 16 17 14 18 14 23 8 18 15
d/hE 7TH 12 13 21 16 16 11 13 8 14 13 14 5 17 19 10 23 12 18 15 16
dt/ha 8TH 18 14 20 18 21 19 15 19 17 27 17 20 11 20 13 24 19 28 18 25
=X 350 346 358 342 357 328 359 328 347 332 346 338 391 361 346 355 368 346 347 367 \
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BT T &5 -E55 - B&h et GIFIRX)

BT BAl-F55-B&h etk (EREAXG/RAD)

UNBEEFHFS) SHM3FE1A1H
G 167% 177% 187% 197% 207% 215% 225% 23i% 247% 255%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 20 16 17 27 24 25 20 21 25 22 23 22 25 20 26 17 27 26 21 29
HING 2TH 6 11 8 6 9 9 10 10 11 11 6 10 9 15 6 8 13 9 11 5
ENY= 3TH 9 13 14 14 1 10 13 16 18 10 18 6 15 20 21 23 16 27 19 17
HING 4TH 13 10 21 9 14 16 12 22 17 22 13 20 25 27 21 24 21 22 20 22
HINE 5TH 11 15 10 13 11 13 10 14 15 21 17 17 21 16 30 33 23 36 26 27
ENY= 6TH 15 10 14 15 18 10 10 12 21 15 15 21 18 18 26 21 25 28 30 23
NG 1TH 20 20 12 15 13 21 24 24 30 25 20 36 47 31 45 52 52 44 45 34
NG 2TH 3 2 10 5 5 5 5 5 9 12 7 17 17 12 9 18 22 8 21 21
NG 3TH 17 19 23 21 19 14 15 23 39 22 23 24 29 29 41 28 49 43 33 40
NG 4TH 10 12 10 12 19 9 15 16 19 21 20 18 28 20 22 23 25 25 29 12
m/INE 5TH 16 19 18 18 13 15 24 17 22 25 25 17 23 17 30 25 30 26 29 31
mE/INE 1TH 6 13 13 15 13 12 8 18 11 9 14 12 14 11 11 12 12 19 13 8
mE/NhNE 2TH 15 21 17 16 18 22 20 25 15 18 19 21 19 20 20 30 21 14 16 18
m/NhNE 3TH 16 14 12 11 15 13 21 7 15 11 16 13 23 21 36 22 29 25 29 28
mE/hNE ATH 19 10 16 12 8 12 20 17 18 9 23 9 13 21 25 12 23 17 13 12
mE/NhNE 5TH 14 15 14 11 15 22 28 17 19 22 20 16 26 31 25 17 31 29 29 24
mE/hNE 6TH 10 12 8 8 9 19 16 14 19 16 16 23 21 16 28 33 20 22 32 31
m/hNE 7TH 13 16 19 18 16 17 12 25 24 33 31 23 31 29 40 46 38 45 48 48
m/hNE 8TH 5 17 7 9 11 11 9 11 25 17 25 28 25 24 25 33 30 26 31 29
d/hE 1TH 2 4 7 12 9 12 9 6 10 12 14 5 11 11 11 23 17 7 16 16
d/hE 2TH 25 17 17 29 21 21 25 23 23 35 35 37 25 22 36 27 48 32 47 39
d/hE 3TH 9 7 9 12 12 9 12 14 22 16 12 14 15 23 28 28 29 25 25 20
d/hE ATH 23 20 18 20 22 19 18 15 26 18 22 21 38 25 31 36 34 25 45 32
d/hE 5TH 11 12 9 10 13 13 7 14 13 10 8 11 21 20 27 20 35 33 19 22
d/hE 6TH 6 22 12 10 18 22 18 24 20 22 34 20 35 26 30 32 40 39 26 28
d/hE 7TH 19 21 14 13 15 14 19 16 21 13 18 13 21 21 17 18 16 20 13 26
dt/ha 8TH 22 10 31 17 30 19 25 12 13 27 17 23 16 16 29 23 16 18 12 23
&5 355 378 380 378 401 404 425 438 520 494 511 497 611 562 696 684 742 690 698 665
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITEHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SHM3FE1A1H
R 267% 27i% 287% 297% 307% 315% 325% 33i% 3475 35i%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HING 1TH 17 21 18 25 31 22 17 26 31 26 23 22 17 24 29 22 26 25 44 13
ENY= 2TH 9 10 10 11 10 4 7 11 5 9 7 6 9 6 9 3 12 10 6 10
ENY= 3TH 16 24 23 15 12 17 17 15 13 18 22 17 20 14 14 14 10 19 18 22
HING 4TH 19 23 27 32 16 24 30 20 11 18 23 19 29 14 19 19 24 31 21 22
HINE 5TH 31 28 26 28 35 32 30 31 24 29 29 25 22 30 34 27 25 27 22 26
HINE 6TH 21 24 25 18 28 19 18 25 22 28 20 16 19 14 18 20 24 15 19 19
NG 1TH 40 45 56 44 41 41 42 47 47 36 49 30 36 37 31 36 50 45 53 49
NG 2TH 21 17 22 16 13 14 26 27 19 11 20 16 22 18 12 16 17 12 15 17
m/IhNE 3TH 33 52 42 39 39 28 33 34 37 50 45 29 34 36 40 39 28 46 36 38
NG 4TH 22 25 29 18 29 14 27 22 21 19 27 26 22 16 28 17 21 13 18 17
NG 5TH 33 28 37 28 32 26 37 30 27 27 28 31 33 25 34 33 41 33 22 25
m/hNE 1TH 12 13 10 14 15 5 11 13 13 9 10 10 8 5 13 8 9 10 8 12
mE/NhNE 2TH 15 9 15 17 22 15 16 14 10 15 12 15 20 9 19 16 15 13 25 18
m/NhNE 3TH 23 21 20 21 24 16 19 12 24 16 24 22 18 17 17 17 15 19 24 22
mE/hNE ATH 18 11 15 18 16 18 23 18 23 14 13 11 17 23 22 19 11 15 22 19
mE/NhNE 5TH 28 24 33 19 26 23 22 20 16 12 27 30 30 25 24 24 34 23 26 32
mE/hNE 6TH 44 42 36 28 32 38 49 31 29 31 32 30 35 21 36 29 36 29 34 20
m/hNE 7TH 63 45 48 38 42 45 36 41 48 36 45 40 44 47 41 28 28 36 36 40
m/hNE 8TH 47 38 40 21 30 45 41 36 29 20 26 30 20 29 34 17 33 27 29 29
d/hE 1TH 17 21 14 23 20 23 25 16 16 19 16 15 24 10 13 17 20 17 13 14
d/hE 2TH 39 35 35 31 36 30 26 36 26 34 42 37 32 30 30 37 30 26 45 38
d/hE 3TH 15 21 22 21 25 15 23 19 15 15 14 22 25 20 14 20 19 16 21 12
d/hE ATH 32 30 33 33 25 24 33 26 41 30 30 23 40 20 32 42 32 25 40 30
d/hE 5TH 34 20 29 14 26 23 14 17 24 21 19 25 27 15 29 19 22 21 20 11
d/hE 6TH 30 35 28 22 26 26 27 31 35 40 40 24 29 28 36 25 27 43 21 35
d/hE 7TH 21 22 30 22 32 22 11 13 23 27 13 21 31 21 27 22 22 19 18 21
dt/ha 8TH 12 15 18 19 18 12 21 15 18 11 19 14 29 17 13 10 14 22 21 23
&5 712 699 741 635 701 621 681 646 647 621 675 606 692 571 668 596 645 637 677 634 |
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SHM3FE1A1H
G 367 375 38 395% 407% A% 425% 435% 447 457%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 26 22 27 34 24 25 29 25 22 21 32 35 17 28 40 34 29 23 36 35
HING 2TH 15 5 7 10 8 6 10 6 7 5 4 12 21 7 9 10 19 13 19 16
ENY= 3TH 21 16 22 16 21 14 14 14 14 12 15 20 20 22 21 18 24 23 19 21
HING 4TH 23 19 29 28 32 29 23 28 21 16 28 27 30 16 18 21 21 25 21 24
EXINY = 5TH 33 21 37 26 29 28 24 26 30 23 26 20 31 20 24 27 41 31 31 28
ENY= 6TH 32 13 18 18 21 20 29 19 24 16 21 18 20 16 18 26 37 20 21 24
NG 1TH 50 44 36 44 42 36 41 36 43 33 36 37 42 44 52 45 50 51 38 48
NG 2TH 24 15 15 21 16 17 16 16 19 14 16 14 22 16 13 18 21 17 16 15
m/INE 3TH 40 35 34 30 33 39 31 33 43 39 29 32 37 27 33 28 42 43 31 35
NG 4TH 23 16 25 23 17 15 27 10 20 26 27 25 28 17 14 16 25 25 30 22
m/INE 5TH 28 17 31 15 19 22 29 24 22 28 20 23 21 25 28 21 26 29 38 27
m/INE 1TH 15 24 16 12 10 7 13 13 11 10 15 9 16 16 15 16 18 13 17 18
mE/NhNE 2TH 18 15 17 11 13 9 16 10 21 12 21 19 18 21 23 23 18 18 27 26
m/NhNE 3TH 22 16 17 27 28 24 23 24 16 26 26 27 30 19 22 20 31 26 19 22
mE/hNE ATH 22 23 13 9 25 21 18 21 23 15 19 21 24 25 23 30 24 18 34 31
mE/NhNE 5TH 27 32 25 25 24 26 22 22 30 16 24 21 20 25 27 23 33 19 26 19
mE/hNE 6TH 29 21 26 22 27 23 24 26 21 17 26 21 30 15 27 29 33 18 23 26
m/hNE 7TH 42 32 47 37 46 34 40 36 47 34 35 31 49 39 41 35 46 37 55 29
m/hNE 8TH 38 14 28 33 33 31 19 19 24 19 29 29 27 26 32 18 30 42 38 25
d/hE 1TH 21 14 15 17 13 17 13 13 17 21 26 13 15 25 25 11 18 11 17 9
d/hE 2TH 37 30 39 44 39 34 32 22 40 36 37 29 37 43 48 32 42 34 31 36
d/hE 3TH 11 25 20 13 19 12 13 10 19 15 9 16 16 17 23 15 21 15 19 17
d/hE ATH 30 23 27 28 33 33 30 21 34 21 36 26 27 29 32 33 24 27 42 37
d/hE 5TH 18 16 30 23 14 13 17 21 20 19 23 15 20 16 26 30 27 21 32 17
d/hE 6TH 35 31 34 34 37 27 34 31 39 24 31 34 36 27 30 29 30 29 35 34
d/hE 7TH 20 19 22 18 24 14 25 17 17 21 22 22 31 20 24 18 19 24 18 17
dt/ha 8TH 20 20 22 26 16 21 22 22 18 29 33 29 24 24 25 34 29 28 27 21
&5 720 578 679 644 663 597 634 565 662 568 666 625 709 625 713 660 778 680 760 679
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BT T &A0-FE55- 85 et GIFNIRX)
ETT BRI -F55- 5% Hatx (FREXREIRAD)
UNEEFS) SH3FE1H1H
R 467% 475% 487% 497i% 507% 517% 527% 537% 547% 557%
5 T 5 T 5 T E:] 58 E2] 8 5 T 5 T 5 X 3 = E2] =

ENY= 1TH 46 41 40 36 36 25 41 36 40 28 29 34 32 24 38 26 18 19 27 23
HING 2TH 11 15 17 14 23 19 15 18 12 15 11 12 21 15 16 12 15 7 12 10
ENY= 3TH 24 22 21 26 36 24 30 20 24 21 27 22 19 14 26 22 18 13 31 22
EXINY = 4TH 21 26 21 23 27 19 34 28 27 26 22 19 30 25 21 24 13 21 28 29
HINE 5TH 24 22 30 28 25 21 27 17 33 28 25 22 26 25 22 29 24 17 25 29
H/IMNE 6TH 31 29 31 27 24 28 24 26 24 17 28 18 33 38 20 27 21 17 22 35
Y= 1TH 47 40 60 46 45 50 53 52 47 46 52 44 43 45 35 34 26 29 38 31
mINE 2TH 18 11 23 25 20 25 33 16 21 14 21 21 14 10 19 17 14 13 13 12
m/IhNE 3TH 32 44 35 38 64 49 35 37 52 38 34 40 42 37 43 35 33 41 49 37
mINE 4TH 17 25 30 22 25 29 23 24 24 34 33 34 29 21 30 34 25 22 34 17
m/hE 5TH 33 37 31 28 35 36 35 34 27 39 39 28 37 34 36 25 23 26 32 40
mE/INE 1TH 14 19 29 20 18 13 23 28 29 22 33 17 27 24 21 22 20 14 18 21
B S 2TH 31 35 43 39 29 36 32 36 33 29 30 30 28 22 31 28 24 18 31 31
B S 3TH 22 31 32 29 33 23 28 31 27 17 31 25 25 31 30 31 24 19 35 25
B 4TH 26 29 28 25 36 23 34 22 32 27 28 16 33 17 19 34 21 15 25 23
B S 5TH 20 22 37 23 35 38 30 26 25 32 34 37 37 33 34 32 26 18 31 21
B 6TH 31 21 25 42 26 26 28 26 28 26 30 29 29 30 33 25 35 25 31 18
B S 7TH 51 35 53 41 49 58 52 54 52 37 44 40 49 41 41 42 36 42 38 31
B 8TH 37 25 33 31 34 38 34 25 21 27 28 19 30 34 26 20 9 22 26 25
d/hE 1TH 16 17 22 15 17 19 23 19 13 16 16 25 19 22 17 20 19 12 16 10
d/hE 2TH 43 43 49 51 44 45 44 53 46 34 38 40 50 27 52 52 28 36 40 42
d/hE 3TH 20 13 20 20 19 12 29 16 19 17 20 18 12 17 20 25 11 13 24 18
d/hE 4TH 44 27 36 33 44 29 41 42 50 24 37 31 35 48 22 27 26 37 27 34
d/hE 5TH 23 21 26 26 24 21 22 25 32 16 20 16 21 18 17 26 19 15 20 21
d/hE 6TH 33 26 37 27 41 30 45 41 45 32 50 36 50 28 29 39 21 23 42 16
d/hE 7TH 17 24 39 31 26 23 35 27 26 22 26 17 19 20 18 25 25 18 22 24
/e 8TH 33 29 28 46 37 30 42 29 37 36 32 30 24 27 36 28 21 23 25 28
=X 765| 729 | 876| 812 872| 789 | 892| 808| 846 | 720| 818 720| 814] 727| 752 761| 595| 575| 762 673 ]
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3FE1A1H
7R 56% 575% 587% 597% 607% 617% 627% 63i% 647% 657%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 22 25 33 29 29 17 31 16 27 22 19 21 18 25 27 20 15 14 24 18
HING 2TH 13 14 11 8 13 9 12 4 16 10 7 5 9 12 7 11 12 10 8 7
ENY= 3TH 20 14 25 22 20 17 17 17 12 15 17 17 15 14 12 8 12 15 11 8
RING 4TH 28 20 25 17 25 24 16 17 17 17 21 9 18 19 19 19 21 13 13 15
HINE 5TH 23 22 23 29 19 32 31 29 24 32 24 16 15 21 23 15 26 17 18 23
ENY= 6TH 28 21 27 19 16 19 24 19 18 13 17 21 18 18 17 22 20 17 20 15
NG 1TH 48 46 41 37 35 28 28 44 32 29 27 27 30 20 33 22 30 21 26 36
NG 2TH 18 13 16 13 14 10 10 12 16 11 8 14 11 4 8 7 12 13 13 19
m/IhNE 3TH 33 32 51 35 26 43 29 23 21 23 23 33 34 35 30 29 33 20 24 30
NG 4TH 22 25 26 19 25 20 17 16 17 21 21 17 19 21 18 19 27 15 22 13
NG 5TH 26 29 25 26 29 18 19 20 24 24 23 20 22 10 21 21 19 14 17 23
m/INE 1TH 17 16 16 17 13 9 10 13 11 14 12 7 12 9 11 2 7 9 13 13
mE/NhNE 2TH 22 27 29 22 22 22 22 16 28 23 18 19 18 12 15 8 21 11 12 15
m/NhNE 3TH 29 21 23 19 36 23 27 17 14 24 19 16 29 13 17 14 18 14 22 12
mE/hNE ATH 27 25 22 23 20 18 26 13 12 11 15 22 18 16 23 20 20 12 12 20
mE/NhNE 5TH 26 29 28 35 26 32 29 25 35 26 29 20 19 30 20 16 23 20 23 15
mE/hNE 6TH 26 22 26 37 22 24 27 27 20 31 29 16 26 21 27 21 15 27 26 18
m/hNE 7TH 47 41 47 29 33 24 37 32 34 33 36 24 32 34 25 26 31 25 22 18
m/hNE 8TH 26 16 24 14 16 17 24 25 27 18 20 25 18 22 17 18 16 14 21 17
d/hE 1TH 15 8 18 20 8 18 14 10 14 15 9 15 11 13 18 18 18 15 8 9
d/hE 2TH 47 54 36 32 32 35 40 32 38 38 28 25 31 34 23 21 22 26 30 38
d/hE 3TH 12 10 29 12 23 17 9 13 12 12 8 8 14 12 13 15 10 13 12 18
d/hE ATH 25 33 36 28 30 29 21 19 27 31 30 16 20 20 25 17 27 15 28 26
d/hE 5TH 19 19 23 23 24 15 10 19 17 21 25 12 19 21 14 14 20 20 13 26
d/hE 6TH 24 27 33 23 24 26 37 31 22 24 34 24 24 34 37 14 21 32 27 19
d/hE 7TH 14 11 20 14 16 19 18 15 24 19 19 25 17 13 10 12 23 5 16 23
dt/ha 8TH 27 23 30 21 38 25 19 17 21 23 11 19 27 14 21 13 19 17 20 21
&5 684 643 743 623 634 590 604 541 580 580 549 493 544 517 531 442 538 444 501 515 |
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BT T HAl-FE55A-Bxhl #Hitx (FREXEIEADO)
UNBEEFHFS) SHM3FE1A1H
R 667% 677% 687% 697% 705% % 127% 13% 145% 15i%
5 & 5 ES 5 ES 5 S 5 S 5 & 5 & 5 ES 5 S 5 %

RING 1TH 13 22 19 20 18 21 20 26 23 22 28 30 27 18 22 25 14 25 11 17
HING 2TH 18 11 9 5 10 8 8 6 7 7 14 10 10 17 13 13 4 7 6 7
RING 3TH 17 12 18 9 13 7 16 13 17 17 18 30 20 18 15 13 12 17 17 10
HING 4TH 19 26 13 18 22 17 14 19 26 12 27 27 34 31 25 21 15 22 16 14
EXINY = 5TH 19 18 18 19 21 18 19 20 20 32 30 27 39 34 23 28 15 19 11 13
ENY= 6TH 17 14 13 25 22 13 25 16 21 24 20 25 23 30 30 30 9 24 11 15
Y= 1TH 27 21 28 23 32 32 41 34 23 39 28 41 40 24 40 38 27 28 15 22
NG 2TH 14 11 11 7 14 11 22 9 10 10 16 15 17 16 15 16 15 16 6 11
m/INE 3TH 27 31 37 25 30 28 39 30 45 33 38 37 32 42 26 37 14 30 28 17
mINE 4TH 21 18 20 19 17 19 14 19 15 26 16 27 30 25 19 25 17 17 16 19
m/INE 5TH 21 21 13 18 21 15 26 23 23 14 27 23 29 19 18 31 18 18 10 12
m/INE 1TH 11 11 10 9 14 8 8 13 16 9 12 11 17 14 9 10 7 10 7 12
mE/NhNE 2TH 13 17 19 21 14 19 22 21 26 23 26 32 28 36 25 35 26 32 13 23
m/NhNE 3TH 17 19 17 10 15 25 21 13 15 17 12 18 23 23 25 17 13 18 13 21
mE/hNE 4TH 11 12 22 22 22 20 15 17 16 17 23 19 24 31 16 27 13 13 17 14
mE/NhNE 5TH 22 20 24 17 29 22 20 21 26 19 25 20 25 21 30 20 20 20 17 18
mE/hNE 6TH 29 25 29 17 23 30 23 26 27 31 41 30 37 27 29 40 17 20 18 29
m/hNE 7TH 14 28 22 33 26 33 35 26 32 33 37 52 37 47 39 43 28 31 19 27
m/hNE 8TH 23 16 24 13 16 18 23 15 20 22 17 21 25 14 22 32 13 23 16 15
d/hE 1TH 16 14 18 16 12 11 15 14 12 21 13 13 16 29 18 14 12 10 9 16
d/hE 2TH 25 29 30 27 23 44 37 31 42 43 45 41 44 31 37 41 25 25 21 29
d/hE 3TH 12 10 17 9 11 14 10 21 17 17 27 20 22 18 14 16 11 11 6 7
d/hE 4TH 23 26 27 15 15 24 25 29 24 15 28 34 32 27 30 33 15 22 26 17
d/hE 5TH 12 16 20 12 21 17 19 18 19 21 25 18 28 24 27 35 17 19 16 11
d/hE 6TH 36 18 19 25 26 32 28 27 34 27 38 33 41 25 38 38 22 28 22 23
d/hE 7TH 24 15 10 17 12 19 19 10 13 21 27 10 19 21 25 25 11 15 15 12
dt/ha 8TH 24 12 17 18 20 17 14 20 24 15 16 29 30 23 18 22 15 21 13 13
=X 525 493 524 469 519 542 578 537 593 587 674 693 749 685 648 725 425 541 395 444 \
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITBA-E55-BLh #Hitx (EEREAXREIRAOD)
UNBEEFHFS) SHM3FE1A1H
R 767% 175% 787%% 797% 807% 81%% 827% 83i% 847% 85
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

HINE 1TH 11 24 23 21 18 23 19 26 14 22 18 18 13 16 13 17 12 17 10 15
HING 2TH 11 13 7 8 9 12 9 11 7 4 2 12 5 7 4 8 3 2 2 10
ENY= 3TH 23 14 17 18 13 16 12 20 11 6 9 16 10 13 5 11 5 1 7 18
HINE 4TH 20 25 11 19 23 19 16 26 10 23 13 11 10 21 17 18 12 15 9 23
EXINY = 5TH 17 20 18 26 15 22 15 15 19 14 10 17 8 12 12 19 15 17 4 29
ENY= 6TH 21 15 8 21 25 19 11 16 13 16 7 12 10 10 8 25 8 16 9 21
NG 1TH 34 34 20 22 16 34 15 35 21 34 16 24 11 8 5 9 13 39 17 18
NG 2TH 6 11 7 7 10 19 7 8 9 9 5 6 3 10 2 7 3 11 6 7
m/INE 3TH 25 29 15 28 15 19 21 25 14 28 15 20 18 30 16 26 8 16 15 26
NG 4TH 13 17 19 21 10 17 14 24 11 13 9 18 9 14 8 16 5 11 9 13
NG 5TH 15 13 17 18 10 19 10 13 12 12 7 13 8 9 11 12 6 16 4 12
mE/INE 1TH 7 16 8 10 10 15 13 12 5 6 7 13 13 16 11 16 10 4 4 15
mE/NhNE 2TH 18 17 17 31 21 35 13 32 20 31 17 19 13 28 19 30 14 30 14 30
m/NhNE 3TH 17 21 16 17 15 22 20 24 17 16 8 18 15 11 9 16 12 18 8 17
mE/hNE ATH 14 19 16 22 27 27 20 21 11 29 15 12 12 18 14 15 8 21 9 22
mE/NhNE 5TH 22 16 22 21 14 28 14 22 11 20 14 15 8 19 11 22 14 21 7 21
mE/hNE 6TH 31 41 23 21 17 15 19 22 11 26 11 19 11 18 12 15 13 23 22 15
m/hNE 7TH 30 27 37 45 29 30 23 43 17 27 22 30 15 28 20 32 18 23 21 25
m/hNE 8TH 14 23 15 17 15 24 17 10 16 11 9 16 6 19 3 11 8 7 7 9
d/hE 1TH 6 9 11 15 11 16 7 13 5 11 4 4 1 2 2 9 5 8 3 10
d/hE 2TH 23 29 24 25 19 27 15 26 16 40 10 28 13 18 13 25 14 23 16 21
d/hE 3TH 17 13 8 11 16 18 9 17 8 12 9 17 7 11 6 13 9 9 8 10
d/hE ATH 17 28 18 32 20 31 22 25 14 29 8 16 16 20 17 20 19 11 14 16
d/hE 5TH 12 10 18 21 17 13 16 17 15 17 8 15 4 13 4 15 11 18 5 14
d/hE 6TH 19 32 21 22 22 24 22 30 13 26 21 15 10 17 13 21 15 17 8 12
d/hE 7TH 12 19 10 15 17 17 17 15 12 14 9 17 11 19 7 15 6 16 5 15
dt/ha 8TH 18 20 11 22 16 19 19 22 17 19 18 22 13 10 12 15 13 20 9 17
&5 473 555 437 556 450 580 415 570 349 515 301 443 273 417 274 458 279 440 252 461
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BT T &5 -E55 - B&h et GIFIRX)

BT T BAl- 55 - B&h R (EREAXG/RAD)

UNBEEFHFS) SHM3FE1A1H
R 867% 87 88i% 89i% 907% 9158 927 93 947% 955%
5 x g8 % g8 % £ = L = g8 = g8 % g8 X L = L g

ENY= 1TH 9 20 7 7 5 9 4 7 1 10 1 6 2 7 1 4 2 2 0 4
ENY= 2TH 4 6 1 3 1 5 4 7 3 5 3 10 5 3 1 1 2 1 0 2
ENY= 3TH 6 13 5 8 3 8 8 6 4 7 1 9 4 3 0 5 4 4 0 3
XN = 4TH 11 14 5 10 7 25 4 11 2 12 5 15 4 9 1 5 0 4 0 3
EXINY = 5TH 6 11 8 11 4 15 8 8 2 11 2 4 1 8 2 7 2 3 0 5
ENY= 6TH 8 7 10 17 2 16 8 8 3 5 2 7 3 6 2 6 1 3 0 2
NG 1TH 7 17 14 21 5 14 5 13 5 7 3 10 5 9 3 9 1 7 4 6
NG 2TH 2 7 8 5 2 1 2 6 2 6 1 4 0 7 1 3 0 4 0 2
NG 3TH 16 16 10 15 6 12 8 17 5 15 9 16 2 10 4 7 7 4 1 9
NG 4TH 7 22 6 15 5 10 4 9 7 5 3 6 2 3 1 4 2 2 0 0
m/INE 5TH 2 10 3 8 2 9 5 15 4 6 1 8 3 6 1 4 3 2 0 2
mE/INE 1TH 4 7 4 6 4 7 2 6 2 3 2 0 0 3 0 4 1 1 0 0
mE/NhNE 2TH 18 11 7 15 8 10 9 11 4 9 3 10 1 10 1 6 2 2 2 2
m/NhNE 3TH 8 8 4 15 3 7 3 11 7 7 5 6 2 14 0 4 2 9 0 3
mE/hNE ATH 7 14 12 10 4 17 5 10 2 11 2 1 3 0 4 0 3 0 3
mE/NhNE 5TH 8 14 5 14 4 11 9 16 4 8 4 11 2 10 1 12 2 4 2 3
mE/hNE 6TH 5 17 11 14 10 15 5 23 1 10 2 15 1 10 2 7 2 9 1 2
m/hNE 7TH 12 17 12 20 8 15 5 9 3 12 3 9 3 4 2 4 2 6 1 6
m/hNE 8TH 2 18 4 12 9 7 1 7 9 6 0 5 0 5 1 5 0 2 1 6
d/hE 1TH 5 3 3 6 3 5 2 7 2 2 1 1 0 3 0 4 3 1 0 5
d/hE 2TH 11 21 7 16 6 11 9 10 9 18 2 10 5 10 2 4 1 2 2 5
d/hE 3TH 5 5 4 6 2 5 5 7 4 3 0 3 3 2 2 2 1 5 1 1
d/hE 4TH 8 14 6 13 7 13 5 8 4 6 3 12 1 6 1 7 2 7 0 7
d/hE 5TH 6 14 3 9 9 7 6 11 3 9 4 4 2 11 2 3 1 10 1 3
d/hE 6TH 9 18 9 13 9 15 5 10 4 11 5 7 2 6 2 6 0 6 1 4
d/hE 7TH 7 12 10 14 4 1 4 7 4 13 3 6 0 6 2 6 0 2 0 5
dt/ha 8TH 6 13 9 11 0 9 8 11 3 5 3 9 3 6 0 2 0 1 1 2
&5 199 349 187 314 132 289 143 271 103 222 73 209 57 180 35 135 43 106 18 95
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BITA-FE55A-Bxhl #Hitx GIFINRX)
BITHA-FE55-Bxhl #Hitx (EREAXREIRAO)
UNBEEFHFS) SH3FE1A1H
R 1067 1075% 1085% 1097% 110%% 1115 125% 1135% 1145% e &5
5 = L = g8 = g8 % L ©

HING 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2035| 2043
HING 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 844 816
H/IMNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1416 | 1,382
XN = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,696 1,799
HINE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,827 1,910
H/IMNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1626 | 1,643
m/IhNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2796 2794
LN = 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,123 | 1,081
m/IhNE 3TH 0 0 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0| 2541 | 2649
N = 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1639 1,620
m/IhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1915 1,869
m/hNE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,092 1,084
mE/NhNE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o/ 1677 1,801
m/NhNE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,766 | 1,647
mE/hNE ATH 0 0 0 0 0 1 0 0 0 0 0 0 0 0 0 0 0 0| 1,621 1,615
mE/NhNE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1965| 1,912
mE/hNE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,994 | 1,992
m/hNE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2,798 2,781
m/hNE 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1835 1,770
d/hE 1TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 o| 1,120 1,157
d/hE 2TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2680| 2729
d/hE 3TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,302 | 1,245
d/hE 4TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2339| 2208
d/hE 5TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1530| 1,532
d/hE 6TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 2359 2231
d/hE 7TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,607 1,607
dt/ha 8TH 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0 0| 1,792 | 1,860
&5 0 0 0 0 0 1 0 1 0 0 0 0 0 0 0 0 0 0 | 48,935 | 48,777

12 /12 R—S




